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- Graphing Quadratii: Functions Exploration

1. Using a graphing calculator, graph the function f(x} =x? ; sketch the graph on the grid using 5
exact points. :
#a. Whatls the domain? ("dﬂ-@) ﬁ/

b. What is the range? [O [ Oﬂ)

2. Graph {in a different color) f(x) =x?+72.0on the same graph using 5 exact points. Describe the

difference between this graph and the graph of f(x)=x".

“a. What is the domain? [“ ﬂg' ff;)

b. Whatristhe rang.e? Y:?/ ‘ 00)

3, Graph (in a different color) f(x)=x*—3 on the same graph using 5 exact points. Describe the

difference between this graph and the graph of Slx)=x>.

a. What is the domain? (__,p‘ d9’)
b. What is the range? E-fg' Uﬂ)
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6. Graph (in a different color) f(x)=(x + 2) on the prov(ded graph using 5 exact po:nts Describe
the difference between this graph and the graph of f(x)=x

a. What is the domain? (....eb\ 603 )x 9{\\(/
5 b.. What is the range? EO ]@) ' 1, |

7. Graph (in a different color) fx)=(x~ 3)? on the same graph using 5 exact points. Describe the
difference between this graph and the graph of 'f(x) =x2.

a. What is the domain? ("50 ' ‘60)

b. What is the range? [0 [ 60)
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10. Graph (in a different color) f(x)=2x" on the provided graph using 5 exact points. Describe the
difference between this graph and the graph of f(x)=x7.

@ What is the domain? (_ﬁ). ﬁow ' Qé\f\pji\\“

b, Whatis the range? el
What is the ra ge. [,0\ 6’9) (9

11. Graph {in a different color) f{x)= : x? on the same graph using 5 exact points. Describe the

2
difference between this graph and the graph of f(x)=x".

. What is the domain? (‘ﬁri‘fa‘ | @Ai/
a at Is the acma \A V\\\w

b. What is the range? Ec}e 5’) : \.‘\/"

12. Graph {in a different color) f(x)=—x? onthe provided graph using 5 exact points. Describe
the difference bétween this graph and the graph of f(x)=x"

a. What is the domain? (""@' WF‘;\)

b. What is?the range’? [_,UG ; Oj

13, Graph(ina different color) f(x)=--3x* on the same graph using 5 exact points. Describe the .
difference between this graph and the graph of f(x)=x". '

a. What is the domain? ["’ﬁ : 61‘?) T
b. What is the range? ‘
: " (" # ) Qj

14. Describe the effect of on the equation f(x)=ax’
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Transformation Practice:

In the following functions, the transformations have been combined on the
quadratic function that you just discovered. Using the parent graph y = x2 list
each transformation that has occurred.

1 f(x)=(x+2)" =3

Stretch, Shrink, ofneither |

Horizontal shift: [/LP'% 1

2. fx)y=—(x— 1)2.+4

Stretch, Shrink, or
Horizontal Shift: 5\@}\% \

3. f(x)=2(x-2"~1
@1, .Shrink, or neither
Horizontal Shift: y,\@\r\;\‘ -

o f(x)=— (x+2)’

) or neither

Stretch,|

Horizontal shift: LeF 7~

@}h, Shrink, or neither

Horizontal Shift: nond.

Vertical Shift: WNV\ 2, | Vertical Shift: \f\'? '«\ Vertical Shift: dawy’\_ \
- Opens: V? Opens: dﬁWW Obeps: U{?
5. f(x)=3x"—5 6. f(x)=—(x+3)"+4

Strefch, Shrink, ox

Horizontal Shift: Lg@"% %

Vertical Shift: Npp&.

Vertical Shift: olgwint &

Vertical shift:. UP 4

-~ Opens: C\OY\L |

Opens:

vp

Opens. dg; NLAN




